\$128,520.15

\$128,520.15



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 17, 2025

April 21, 2025

Progress Estimate Number 15	Contract ID Prime Contractor	240816-F Pace Cor	F02 nstruction Company			November 2, 202 November 15, 20		Int \$40,716.98		
Approval Date								By User		
November 17, 2025			Generated and A	Approved	l (and should be	considered Draft) a	at the Project Office Level by	anderk		
November 18, 2025		R	Reviewed and Appro	ved (and	I should be consi	dered Draft) at the	Resident Engineer Level by	wolkt1		
November 18, 2025			F	Reviewed and Approved at the Central Office Controllers Office Level by ran						
Original Complet	ion Date C	urrent Co	mpletion Date	Act	tual Completion	nt Complete				
November 1, 2	2025	Novemb	per 1, 2025							
	Contrac	t Informati	onal Dates				Milestones			
Date Description	Original Comple	tion Date	Current Completi	on Date		No Milestones Ex	rist for Contract			
Acceptance Date										
Awarded Date	Awarded Date September 5, 2024			1						
Letting Date	August 16, 2024									
Notice to Proceed Date		October 7, 2024								

Contract Total Pa	y For Estimate No. 15			
		This Estimate	Previous	To Date
240816-F02				
	Total Posted Items Pay	\$128,520.15	\$2,795,741.94	\$2,924,262.09
	Gross Item Adjustments	\$0.00	\$85,210.91	\$85,210.91
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$29,214.29	\$29,214.29
			\$2,910,167.14	\$3,038,687.29
Contract Total Pag	yable This Estimate:	\$128,520.15		

April 21, 2025

Items Paid	This E	stimate	Period

Work Began Date

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J6S3633	0030	2063500	CULVERT CLEANOUT	EA	\$1,450.000	2	\$2,900.00
	0040	2079909	MISC.LINEAR GRADING CLASS 2, MODIFIED	STA	\$2,400.000	-4	(\$9,600.00)
	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$9.250	155	\$1,433.75
	0800	4030011	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095CLP MIX)	TONS	\$115.000	500.480	\$57,555.20
	0090	4071007	TACK COAT - NON-TRACKING	GAL	\$3.000	500	\$1,500.00
	0150	6081012	TRUNCATED DOMES	SQFT	\$22.000	10	\$220.00
	0200	6086004	CONCRETE SIDEWALK, 4 IN.	SQYD	\$71.500	155	\$11,082.50
	0220	6089902	MISC.ADA CURB RAMP	EA	\$2,275.000	4	\$9,100.00
	0230	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	LF	\$36.000	310.200	\$11,167.20
	0330	6099903	MISC.VARIABLE HEIGHT CURB	LF	\$89.000	293	\$26,077.00
	0470	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	LS	\$14,000.000	0.250	\$3,500.00
	0720	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$2.750	4,558	\$12,534.50
	0870	8061006	ALTERNATE DITCH CHECK	LF	\$15.000	70	\$1,050.00

Contract Adjustments This Estimate

Project J6S3633 - Total

Overall - Total

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 10/17/2025 Page 1 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 17, 2025

Estimat	gress e Num 15		116-F02 Construction	Company, LI	_C Pay Period End November 15, 2025 No	riginal Contrac et Change Ord urrent Contrac	er Amount	\$4,029,777.00 \$40,716.98 \$4,070,493.98
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3633	0030	CULVERT CLEANOUT	Overrun			-1	\$1,450.00	(\$1,450.00)
	0030	CULVERT CLEANOUT	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	1	\$1,450.00	\$1,450.00
	0800	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095CLP MIX)	Overrun			-487.40000	\$115.00	(\$56,051.00)
	0080	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095CLP MIX)	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	487.40000	\$115.00	\$56,051.00
	0090	TACK COAT - NON- TRACKING	Overrun			-1,105	\$3.00	(\$3,315.00)
	0090	TACK COAT - NON- TRACKING	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	1,105	\$3.00	\$3,315.00
	0190	PAVED APPROACH, 8 IN.	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-12.30000	\$121.00	(\$1,488.30)
	0190	PAVED APPROACH, 8 IN.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate.	12.30000	\$121.00	\$1,488.30
	0330	MISC.	Material			-321.10000	\$89.00	(\$28,577.90)
	0330	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	321.10000	\$89.00	\$28,577.90
	0630	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-4,857	\$0.34	(\$1,651.38)
	0630	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	4,857	\$0.34	\$1,651.38
	0660	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-16,488	\$0.17	(\$2,802.96)
	0660	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	16,488	\$0.17	\$2,802.96			
	0720	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	Overrun			-1,156	\$2.75	(\$3,179.00)
	0720	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user claspc1	1,156	\$2.75	\$3,179.00

Revision 10/17/2025 Page 2 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 17, 2025

Estimat	gress e Numl 15	Contract ID ber Prime Contractor	240816-F02 Pace Construction	n Company, LL0	Pay Period Start Pay Period End	November 2, 2025 November 15, 2025	Original Contract Net Change Ord Current Contract	er Amount	\$4,029,777.00 \$40,716.98 \$4,070,493.98
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Com	nments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J6S3633		THICK OR LESS)			overridding Payment E on the current Paymer		6		
	0750	CLASS B CONCRETE (MISC)	Material				-62.20000	\$1,015.00	(\$63,133.00)
	0750	CLASS B CONCRETE (MISC)	Material	(This adjustment offset generated Material Pa Adjustment (0009) due overridding Payment E the current Payment E	yment Estimate Item e to user claspc1 Estimate Exception 5		\$1,015.00	\$63,133.00
	0780	REINFORCING STEEL (EPOXY COATED)	Material				-1,140	\$2.00	(\$2,280.00)
	0780	REINFORCING STEEL (EPOXY COATED)	Material	(This adjustment offset generated Material Pa Adjustment (0010) due overridding Payment E the current Payment E	yment Estimate Item e to user claspc1 Estimate Exception 7		\$2.00	\$2,280.00
	0810	MISC.	Material				-10	\$925.00	(\$9,250.00)
	0810	MISC.	Material	(This adjustment offset generated Material Pa Adjustment (0012) due overridding Payment E the current Payment E	yment Estimate Item e to user claspc1 Estimate Exception 8		\$925.00	\$9,250.00
	0810	MISC.	Overrun	1	Averaged Price Adjust all previous payment e applied (if non-zero).			\$925.00	(\$2,775.00)
	0810	MISC.	Overrun	(This adjustment offset generated Overrun Pa Adjustment (0011) due overridding Payment E on the current Paymer	lyment Estimate Item e to user claspc1 Estimate Exception 1		\$925.00	\$2,775.00
	1330	2 IN. PSST POST - 12 G	A. Material				-156	\$28.00	(\$4,368.00)
	1330	2 IN. PSST POST - 12 G	A. Material	(This adjustment offset generated Material Pa Adjustment (0013) due overridding Payment E the current Payment E	yment Estimate Item e to user claspc1 Estimate Exception 9		\$28.00	\$4,368.00
	1340	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA					-11	\$300.00	(\$3,300.00)
	1340	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA		(This adjustment offset generated Material Pa Adjustment (0014) due overridding Payment E on the current Paymer	yment Estimate Item e to user claspc1 Estimate Exception 10		\$300.00	\$3,300.00
Total									\$0.00

Revision 10/17/2025 Page 3 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	tion	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J6S3633 FAS S503(31) Coldmill, resurface, ADA improvements, and bridge deck sealing AB ST LOUIS from 0.1 mile west of Route 141 to I-270, near Creve Coeur								
Totals b	y Job N	umbers						
J6S3633		d Item Pay Item Adjustmer	nts Gross It	tem Pay	This Estimate \$128,520.15 \$0.00 \$128,520.15	Previous \$2,795,741.94 \$85,210.91 \$2,880,952.85	To Date \$2,924,262.09 \$85,210.91 \$3,009,473.00	
		centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
		lated Damages Contract Adjust	ments		\$0.00 \$0.00	\$0.00 \$29,214.29	\$0.00 \$29,214.29	

Revision 5/29/2025 Page 4 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 6099903, Project Item Line Number 0330, Material Set 6099903, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting for QC reports to be entered	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 6099903, Project Item Line Number 0330, Material Set 6099903, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Waiting for QC reports to be entered	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 6206001C, Project Item Line Number 0660, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting for TCC to provide accurate Cert for P Beads	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 6206001C, Project Item Line Number 0660, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting for TCC to provide accurate Cert for P Beads	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 7032002, Project Item Line Number 0750, Material Set 703200296, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting for QC reports to be entered	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 7032002, Project Item Line Number 0750, Material Set 703200296, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Waiting for QC reports to be entered	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 7101000, Project Item Line Number 0780, Material Set 710100096, Material 1036RSSRECAB - Epoxy Ctd Sprl Stl Rein for Anch Bolts @, Acceptance Action Generic ReinforcingMisc is insufficient.	Working with Materials to get corrected.	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 7269903, Project Item Line Number 0810, Material Set 726990396, Material 1046PPLPET2 - Pipe Liner HDPE (ASTM D3350), Acceptance Action Generic 1046PPLPET2 is insufficient.	Working with Materials to determine whether Jeff City or STL District Materials certifies this item.	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 9031270A, Project Item Line Number 1330, Material Set 9031270A96, Material 0903HSTS - OBSOLETE (DO NOT USE for 2025 or later contracts) Tubular Steel Sign Support, Acceptance Action Generic 0903HSTS is insufficient.	Need to create sample record	claspc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J6S3633, Item 9031271A, Project Item Line Number 1340, Material Set 9031271A, Material 0903HSXX - Highway Signing Material, Acceptance Action Generic 0903HSXX is insufficient.	Need to create sample record	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0030, Contract Line Item Number 0030, Item 2063500, Minor Item.	Overrun anticipated with additional culvert cleanups requested after project letting.	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0080, Contract Line Item Number 0080, Item 4030011, Minor Item.	Working with Mike to determine reasons for Overrun on Asphalt work	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0090, Contract Line Item Number 0090, Item 4071007, Minor Item.	Working with Mike to determine reasons for Overrun on Asphalt work	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0190, Contract Line Item Number 0190, Item 6085008, Minor Item.	Additional 8" poured at Ladue Pines approach and at Pentecostal Church	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0630, Contract Line Item Number 0630, Item 6205902A, Minor Item.	Overrun due to switching all 4" White edgeline to 6" White after job letting.	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0720, Contract Line Item Number 0720, Item 6221001, Minor Item.	Working with Mike to determine reasons for Overrun on Asphalt work	claspc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240816-F02, Contract Project J6S3633, Project Item Line Number 0810, Contract Line Item Number 0810, Item 7269903, Minor Item.	Overrun due to additional pipe placed on north side of structure leading to the box culvert.	claspc1	Overridden

Revision 5/29/2025 Page 5 of 26



Total Paid / All Items / All Estimates (Including this Estimate)

ontract Project ID No.	t Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0816- J6S363	3 0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$157,261.13	\$110,082.7
2	0001	0020	2063000	CLASS 3 EXCAVATION	28.00	0.00	28.00	CUYD	28.00	\$340.00	\$9,520.0
	0001	0030	2063500	CULVERT CLEANOUT	13.00	0.00	13.00	EA	14.00	\$1,450.00	\$20,300.0
	0001	0040	2079909	MISC.LINEAR GRADING CLASS 2, MODIFIED	73.00	0.00	73.00	STA	67.40	\$2,400.00	\$161,760.0
	0001	0050	2159910	MISC.SHAPING SLOPES CLASS III - MODIFIED	16.00	-0.80	15.20	100F	15.20	\$1,250.00	\$19,000.0
	0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	3,475.00	0.00	3,475.00	SQYD	2,984.05	\$9.25	\$27,602.4
	0001	0070	4010151	TYPE A3 SHOULDER	211.00	0.00	211.00	SQYD	0.00	\$72.00	\$0.0
	0001	0080	4030011	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095CLP MIX)	7,577.60	0.00	7,577.60	TONS	8,065.00	\$115.00	\$927,475.0
	0001	0090	4071007	TACK COAT - NON-TRACKING	7,995.00	0.00	7,995.00	GAL	9,100.00	\$3.00	\$27,300.
	0001	0100	6042010	ADJUSTING MANHOLE	8.00	0.00	8.00	EA	0.00	\$200.00	\$0.
	0001	0110	6044013	PIPE COLLAR, TYPE C	2.00	0.00	2.00	EA	1.00	\$3,075.00	\$3,075.
	0001	0120	6049902	MISC.ADJUSTING PULL BOXES	2.00	0.00	2.00	EA	1.00	\$1,200.00	\$1,200.
	0001	0130	6049902	MISC.ADJUSTING VALVES	5.00	0.00	5.00	EA	0.00	\$200.00	\$0.
	0001	0140	6049902	MISC.MANHOLE COLLAR	8.00	0.00	8.00	EA	0.00	\$2,750.00	\$0.
	0001	0150	6081012	TRUNCATED DOMES	455.00	0.00	455.00	SQFT	304.60	\$22.00	\$6,701.
	0001	0160	6083006	6 IN. CONCRETE MEDIAN STRIP	91.50	0.00	91.50	SQYD	10.20	\$140.00	\$1,428.
	0001	0170	6084024	SIDEWALK HAND-RAILING WITH BALUSTERS	241.00	0.00	241.00	LF	8.00	\$300.00	\$2,400
	0001	0180	6085007	PAVED APPROACH, 7 IN.	573.60	0.00	573.60	SQYD	560.65	\$110.00	\$61,671.
	0001	0190	6085008	PAVED APPROACH, 8 IN.	258.90	0.00	258.90	SQYD	271.20	\$121.00	\$32,815.
	0001	0200	6086004	CONCRETE SIDEWALK, 4 IN.	2,138.10	0.00	2,138.10	SQYD	1,854.70	\$71.50	\$132,611.
	0001	0210	6086008	CONCRETE SIDEWALK, 8 IN.	17.20	0.00	17.20	SQYD	0.40	\$375.00	\$150.
	0001	0220	6089902	MISC.ADA CURB RAMP	48.00	0.00	48.00	EA	45.00	\$2,275.00	\$102,375.
	0001	0230	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	898.00	0.00	898.00	LF	447.00	\$36.00	\$16,092
	0001	0240	6091041	CONCRETE GUTTER TYPE A	159.00	0.00	159.00	LF	0.00	\$82.50	\$0
	0001	0250	6091042	CONCRETE GUTTER TYPE B	163.00	0.00	163.00	LF	0.00	\$80.00	\$0
	0001	0260	6091052	CURB AND GUTTER TYPE B	98.00	0.00	98.00	LF	97.40	\$75.00	\$7,305
	0001	0270	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	59.00	0.00	59.00	CUYD	59.00	\$46.00	\$2,714
	0001	0280	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	364.00	0.00	364.00	CUYD	363.70	\$42.75	\$15,548
	0001	0290	6096041	PLACING TYPE 1 ROCK DITCH LINER	59.00	0.00	59.00	CUYD	59.00	\$74.50	\$4,395
	0001	0300	6096042	PLACING TYPE 2 ROCK DITCH LINER	364.00	0.00	364.00	CUYD	363.70	\$72.50	\$26,368
	0001	0310	6099903	MISC.TYPE A GUTTER - MODIFIED	24.00	0.00	24.00	LF	10.00	\$340.00	\$3,400
	0001	0320	6099903	MISC.TYPE A GUTTER TO TYPE B GUTTER TRANSITION	12.00	0.00	12.00	LF	0.00	\$450.00	\$0
	0001	0330	6099903	MISC.VARIABLE HEIGHT CURB	383.00	0.00	383.00	LF	321.10	\$89.00	\$28,577
	0001	0340	6122008	IMPACT ATTENUATOR 40 MPH (SAND BARREL ARRAY)	3.00	0.00	3.00	EA	0.00	\$1,650.00	\$0
	0001	0350	6122020	REPLACEMENT SAND BARREL	6.00	0.00	6.00	EA	0.00	\$325.00	\$0
	0001	0360	6122030	IMPACT ATTENUATOR (RELOCATION)	3.00	0.00	3.00	EA	0.00	\$1,000.00	\$0
	0001	0370	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	66.00	0.00	66.00	SQYD	45.40	\$525.00	\$23,835
	0001	0380	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	66.00	0.00	66.00	SQYD	45.40	\$20.00	\$908
	0001	0390	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	302.00	0.00	302.00	LF	114.00	\$10.00	\$1,140
	0001	0400	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	12.00	0.00	12.00	EA	0.00	\$15.00	\$0.
	0001	0410	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS) FURNISHING AND PLACING BITUMINOUS MATERIAL FOR	32.00	0.00	32.00 24.00	TONS	0.00	\$10.00 \$102.00	\$0 \$1,364
	0001	0420	6133019	CLASS B PARTIAL DEPTH PAVEMENT REPAIR REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	89.00	0.00	89.00	SQYD	71.50	\$169.00	\$1,304
	0001	0440	6141120	CURVED VANE GRATE AND FRAME (2 FT. X 2 FT. OR 600MM X	2.00	0.00	2.00	EA	2.00	\$3,600.00	\$7,200
	0001	0450	6143012	600MM) MANHOLE FRAME AND COVER, TYPE 2	1.00	0.00	1.00	EA	1.00	\$3,600.00	\$3,600
	0001	0460	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	3.00	\$4,500.00	\$13,500
	0001	0470	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.75	\$14,000.00	\$10,500
	0001	0480	6169902	MISC.ADA COMPLIANT MOVABLE BARRICADE	8.00	0.00	8.00	EA	2.00	\$125.00	\$250
	0001	0490	6172000	CONCRETE TRAFFIC BARRIER, TYPE B	30.00	0.00	30.00	LF	30.00	\$181.00	\$5,430
	0001	0500	6173000	CONCRETE TRAFFIC BARRIER, TYPE C	413.00	0.00	413.00	LF	370.20	\$99.00	\$36,649
	0001	0510	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	500.00	0.00	500.00	LF	350.00	\$24.00	\$8,400
	0001	0520	6179903	MISC.TYPE B CONCRETE TRAFFIC BARRIER HEIGHT TRANSITION	20.00	0.00	20.00	LF	20.00	\$260.50	\$5,210
	0001	0530	6179903	MISC.TYPE C CONCRETE TRAFFIC BARRIER HEIGHT	28.00	0.00	28.00	LF	27.60	\$145.00	\$4,002



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID		Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240816-	J6S3633				TRANSITION							
F02		0001	0540	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$345,000.00	\$345,000.00
		0001	0550	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	2.00	0.00	2.00	EA	0.00	\$600.00	\$0.00
		0001	0560	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	646.00	0.00	646.00	LF	158.00	\$23.00	\$3,634.00
		0001	0570	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	195.00	0.00	195.00	LF	0.00	\$23.00	\$0.00
		0001	0580	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	51.00	0.00	51.00	EA	27.00	\$275.00	\$7,425.00
		0001	0590	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	5.00	0.00	5.00	EA	0.00	\$375.00	\$0.00
		0001	0600	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	3.00	0.00	3.00	EA	0.00	\$475.00	\$0.00
		0001	0610	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	134.00	0.00	134.00	EA	13.00	\$45.00	\$585.00
		0001	0620	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	162.00	-162.00	0.00	EA	0.00	\$20.00	\$0.00
		0001	0630	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	10,500.00	0.00	10,500.00	LF	15,357.00	\$0.34	\$5,221.38
		0001	0640	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,192.00	0.00	4,192.00	LF	4,192.00	\$0.34	\$1,425.28
		0001	0650	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	35,847.00	0.00	35,847.00	LF	0.00	\$0.17	\$0.00
		0001	0660	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	35,900.00	0.00	35,900.00	LF	16,488.00	\$0.17	\$2,802.96
		0001	0670	6209901	MISC.PAVEMENT MARKING REMOVAL WITHIN CONCRETE SURFACES	1.00	0.00	1.00	LS	0.25	\$6,000.00	\$1,500.00
		0001	0680	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$35,000.00	\$0.00
		0001	0690	6209902	MISC.18 IN. WHITE ISLAND TUBULAR MARKERS	56.00	0.00	56.00	EA	0.00	\$35.00	\$0.00
		0001	0700	6209902	MISC.18 IN. YELLOW ISLAND TUBULAR MARKERS	8.00	0.00	8.00	EA	0.00	\$35.00	\$0.00
		0001	0710	6209902	MISC.CURB REFLECTORS	43.00	0.00	43.00	EA	0.00	\$13.00	\$0.00
		0001	0720	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	79,942.00	0.00	79,942.00	SQYD	81,098.00	\$2.75	\$223,019.50
		0001	0730	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,244.00	0.00	1,244.00	SQYD	1,243.30	\$1.50	\$1,864.95
		0001	0740	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.80	\$30,000.00	\$24,000.00
		0001	0750	7032002	CLASS B CONCRETE (MISC)	62.20	0.00	62.20	CUYD	62.20	\$1,015.00	\$63,133.00
		0001	0760	7069902	MISC.6.5 FT X 7 FT DRAINAGE FLUME	1.00	0.00	1.00	EA	1.00	\$9,625.00	\$9,625.00
		0001	0770	7069902	MISC.7 FT X 7 FT DRAINAGE FLUME	2.00	0.00	2.00	EA	2.00	\$8,225.00	\$16,450.00
		0001	0780	7101000	REINFORCING STEEL (EPOXY COATED)	1,140.00	0.00	1,140.00	LB	1,140.00	\$2.00	\$2,280.00
		0001	0790	7261012	12 IN. PIPE GROUP A	17.00	0.00	17.00	LF	17.00	\$425.00	\$7,225.00
		0001	0800	7261015	15 IN. PIPE GROUP A	11.00	0.00	11.00	LF	11.00	\$665.00	\$7,315.00
		0001	0810	7269903	MISC.PIPE LINER FOR 30 IN PIPE	7.00	0.00	7.00	LF	10.00	\$925.00	\$9,250.00
		0001	0820	7310048	PRECAST CONCRETE MANHOLE - 48 IN.	8.00	0.00	8.00	FT	8.00	\$1,200.00	\$9,600.00
		0001	0830	7311052	PRECAST CONCRETE DROP INLET 5 FT X 2 FT	5.00	0.00	5.00	FT	5.00	\$1,975.00	\$9,875.00
		0001	0840	7319902	MISC.SHALLOW DROP INLET FOR DRAINAGE FLUME	2.00	0.00	2.00	EA	2.00	\$4,850.00	\$9,700.00
		0001	0850	8031000A	TURF TYPE TALL FESCUE SODDING	1,500.00	0.00	1,500.00	SQYD	0.00	\$13.00	\$0.00
		0001	0860	8061005	ROCK DITCH CHECK	100.00	0.00	100.00	LF	0.00	\$15.00	\$0.00
		0001	0870	8061006	ALTERNATE DITCH CHECK	24.00	70.00	94.00	LF	70.00	\$15.00	\$1,050.00
		0001	0880	8061007A	CURB INLET CHECK	14.00	0.00	14.00	EA	11.00	\$125.00	\$1,375.00
		0001	0890	8061016	SEDIMENT REMOVAL	51.00	0.00	51.00	CUYD	0.00	\$32.00	\$0.00
		0001	0900	8061019	SILT FENCE	2.090.00	0.00	2,090.00	LF	0.00	\$3.50	\$0.00
		0010	0910	6061060	MGS GUARDRAIL	1,038.00	0.00	1,038.00	LF	1,037.50	\$28.00	\$29,050.00
		0010	0920	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	563.00	0.00	563.00	LF	562.50	\$36.00	\$20,250.00
		0010	0930	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	1.00	0.00	1.00	EA	1.00	\$4,200.00	\$4,200.00
		0010	0940	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	3.00	-1.00	2.00	EA	2.00	\$4,000.00	\$8,000.00
		0010	0950	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	20.00	-1.00	19.00	EA	19.00	\$3,900.00	\$74,100.00
		0020	0960	9011313	LUMINAIRE, LED-C	9.00	0.00	9.00	EA	0.00	\$5,900.00	\$0.00
		0020	0970	9014004	CONDUIT, 4 IN. RIGID, PUSHED	626.00	0.00	626.00	LF	0.00	\$28.00	\$0.00
		0020										
		0020	0980	9016110	PULL BOX, PREFORMED CLASS 1 CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE	4.00 690.00	0.00	4.00 690.00	EA LF	0.00	\$1,431.00 \$8.50	\$0.00 \$0.00
		0030	1000	0020540	NEUTRAL, 8 AWG	04.00	0.00	04.00		0.00	£4.070.00	00.00
		0030	1000	9020513	SIGNAL HEAD, TYPE 4B	21.00	0.00	21.00	EA	0.00	\$1,276.00	\$0.00
		0000	1010	9020514	SIGNAL HEAD, TYPE 4B	6.00	0.00	6.00	EA	0.00	\$1,488.00	\$0.00

Revision 5/29/2025 Page 7 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
	J6S3633	0030	1020	9020833	SH-FLAT SHEET - SIGNAL SIGN	120.00	0.00	120.00	SQFT	0.00	\$36.50	\$0.00
)2		0030	1030	9020834	SIGNAL SIGN, MOUNTING HARDWARE	25.00	0.00	25.00	EA	0.00	\$320.00	\$0.0
		0030	1040	9022708	POST, SIGNAL 8 FT.	4.00	0.00	4.00	EA	0.00	\$1,035.00	\$0.0
		0030	1050	9023245	POST, TYPE C, 45 FT. ARM OR 13.7 M ARM	1.00	0.00	1.00	EA	0.00	\$12,810.00	\$0.0
		0030	1060	9023255	POST, TYPE C, 55 FT. ARM	1.00	0.00	1.00	EA	0.00	\$15,108.00	\$0.0
		0030	1070	9023340	POST, TYPE B, LONGEST ARM 40 FT. OR 12.2 M	2.00	0.00	2.00	EA	0.00	\$19,087.00	\$0.0
		0030	1080	9023350	POST, TYPE B, LONGEST ARM 50 FT. OR 15.2 M	1.00	0.00	1.00	EA	0.00	\$21,232.00	\$0.0
		0030	1090	9023355	POST, TYPE B, LONGEST ARM 55 FT.	1.00	0.00	1.00	EA	0.00	\$22,317.00	\$0.0
		0030	1100	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	4.00	0.00	4.00	EA	0.00	\$20,160.00	\$0.0
		0030	1110	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	66.00	0.00	66.00	LF	0.00	\$14.00	\$0.0
		0030	1120	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	211.00	0.00	211.00	LF	0.00	\$15.00	\$0.0
		0030	1130	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	958.00	0.00	958.00	LF	0.00	\$24.00	\$0.0
		0030	1140	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	290.00	0.00	290.00	LF	0.00	\$1.40	\$0.0
		0030	1150	9028308	CABLE, 16 AWG 2 CONDUCTOR	2,560.00	0.00	2,560.00	LF	0.00	\$1.15	\$0.0
		0030	1160	9028310	CABLE, 16 AWG 5 CONDUCTOR	2,570.00	0.00	2,570.00	LF	0.00	\$1.40	\$0.0
		0030	1170	9028311	CABLE, 16 AWG 7 CONDUCTOR	5,800.00	0.00	5,800.00	LF	0.00	\$1.45	\$0.0
		0030	1180	9028500	CABLE, LOOP DETECTOR, IN DUCT	2,400.00	479.00	2,879.00	LF	2,717.40	\$6.80	\$18,478.3
		0030	1190	9028810	PULL BOX, PREFORMED CLASS 1	3.00	0.00	3.00	EA	0.00	\$1,432.00	\$0.0
		0030	1200	9028811	PULL BOX, PREFORMED CLASS 2	9.00	0.00	9.00	EA	0.00	\$2,169.00	\$0.0
		0030	1210	9028812	PULL BOX, PREFORMED CLASS 3	3.00	0.00	3.00	EA	0.00	\$4,116.00	\$0.0
		0030	1220	9029100	BASE, CONCRETE		0.00		CUYD			
		0030	1230		TEMPORARY TRAFFIC SIGNALS AND LIGHTING	21.50	0.00	21.50	LS	0.00	\$1,450.00	\$0.0
		0030		9029401		1.00		1.00		1.00	\$5,800.00	\$5,800.0
		0030	1240	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE AND PROGRAMMING	1.00	0.00	1.00	LS	0.00	\$18,900.00	\$0.0
		0030	1250	9029902	MISC.ATC TRAFFIC SIGNAL CONTROLLER	4.00	0.00	4.00	EA	0.00	\$6,379.00	\$0.0
		0030	1260	9029902	MISC.AUDIBLE PEDESTRIAN PUSHBUTTON AND SIGNING WITH VERBAL WALK MESSAGE	10.00	0.00	10.00	EA	0.00	\$890.00	\$0.0
		0030	1270	9029902	MISC.COMBINATION PAD MOUNTED 120V/240V POWER SUPPLY & LIGHTING CONTROLLER	3.00	0.00	3.00	EA	0.00	\$20,100.00	\$0.0
		0030	1280	9029902	MISC.COUNTDOWN PEDESTRIAN SIGNAL HEAD, TYPE 1S	10.00	0.00	10.00	EA	0.00	\$695.00	\$0.0
			1290	9029902	MISC.EXTENSIONS FOR PUSHBUTTON (14-INCH MAX)	16.00	0.00	16.00	EA	0.00	\$258.00	\$0.0
		0030	1300	9029902	MISC.NETWORK CONNECTED SIGNAL MONITOR	4.00	0.00	4.00	EA	0.00	\$1,440.00	\$0.0
		0030	1310	9029902	MISC.POWDER COATING FOR PEDESTRIAN PUSH BUTTON EXTENSIONS	6.00	0.00	6.00	EA	0.00	\$30.00	\$0.0
		0030	1320	9029902	MISC.SL DISTRICT TRAFFIC SIGNAL DETECTION SYSTEM	4.00	0.00	4.00	EA	0.00	\$46,345.00	\$0.0
		0040	1330	9031270A	2 IN. PSST POST - 12 GA.	144.00	12.00	156.00	LF	156.00	\$28.00	\$4,368.0
		0040	1340	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	10.00	1.00	11.00	EA	11.00	\$300.00	\$3,300.0
		0040	1350	9035004A	SH-FLAT SHEET	70.00	7.50	77.50	SQFT	77.00	\$30.00	\$2,310.0
		0040	1360	9035069A	SHF-FLAT SHEET FLUORESCENT	55.00	0.00	55.00	SQFT	55.00	\$36.00	\$1,980.0
		0050	1370	9109901	MISC.ITS ASSET MANAGEMENT TOOL	1.00	0.00	1.00	LS	0.00	\$5,900.00	\$0.0
		0050	1380	9109902	MISC.FIBER OPTIC FUSION SPLICE	22.00	0.00	22.00	EA	0.00	\$65.00	\$0.0
		0050	1390	9109902	MISC.INSTALL MODOT FURNISHED IP-ADDRESSABLE POWER STRIP	4.00	0.00	4.00	EA	0.00	\$534.00	\$0.0
		0050	1400	9109902	MISC.INSTALL OR RELOCATE EXISTING COMMUNICATION EQUIPMENT	4.00	0.00	4.00	EA	0.00	\$1,128.00	\$0.0
		0050	1410	9109902	MISC.MODOT BURIED CABLE DRIVABLE DELINEATOR POST	8.00	0.00	8.00	EA	0.00	\$291.00	\$0.0
		0050	1420	9109902	MISC.SM FIBER OPTIC JUMPER	16.00	0.00	16.00	EA	0.00	\$82.00	\$0.0
		0050	1430	9109902	MISC.SM FIBER OPTIC PIGTAIL	16.00	0.00	16.00	EA	0.00	\$74.00	\$0.0
		0050	1440	9109902	MISC.WALL-MOUNT FIBER INTERCONNECT CENTER	4.00	0.00	4.00	EA	0.00	\$1,572.00	\$0.0
		0050	1450	9109903	MISC.CONDUIT, HDPE, TRENCH, 2 IN.	51.00	0.00	51.00	LF	0.00	\$14.00	\$0.0
		0050	1460	9109903	MISC.RELOCATE FIBER OPTIC CABLE, 24 STRAND, SINGLE MODE	255.00	0.00	255.00	LF	0.00	\$4.20	\$0.0
		0060	1470	9029902	MISC.POWDER COATING FOR 40 FT. MAST ARM AND 25 FT. MAST ARM, TYPE B POST	1.00	0.00	1.00	EA	0.00	\$1,210.00	\$0.0
		0060	1480	9029902	MISC.POWDER COATING FOR 40 FT. MAST ARM AND 30 FT. MAST ARM, TYPE B POST	1.00	0.00	1.00	EA	0.00	\$1,210.00	\$0.0
		0060	1490	9029902	MISC.POWDER COATING FOR 45 FT. MAST ARM, TYPE C POST	1.00	0.00	1.00	EA	0.00	\$1,074.00	\$0.0
		0060	1500	9029902	MISC.POWDER COATING FOR 50 FT. MAST ARM AND 35 FT. MAST ARM, TYPE B POST	1.00	0.00	1.00	EA	0.00	\$1,353.00	\$0.0
					MISC.POWDER COATING FOR 55 FT. MAST ARM AND 35 FT.	1.00	0.00	1.00	EA	0.00	\$1,623.00	\$0.0
		0060	1510	9029902	MAST ARM, TYPE B POST	1.00	0.00				¥ 1,0=0100	,

Revision 5/29/2025 Page 8 of 26



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240816-	J6S3633	0060	1530	9029902	MISC.POWDER COATING FOR POST, SIGNAL 8 FT.	4.00	0.00	4.00	EA	0.00	\$66.50	\$0.00
F02		0060	1540	9029902	MISC.POWDER COATING FOR PUSHBUTTON EXTENSIONS-CREVE COEUR	10.00	0.00	10.00	EA	0.00	\$12.00	\$0.00
		0060	1550	9029902	MISC.POWDER COATING FOR SIGNAL POST PEDESTAL	4.00	0.00	4.00	EA	0.00	\$12.00	\$0.00
		0070	1560	7040163	CONCRETE CRACK FILLER	3,222.00	0.00	3,222.00	SQYD	3,222.00	\$17.25	\$55,579.50
		0071	1570	7040163	CONCRETE CRACK FILLER	1,708.00	0.00	1,708.00	SQYD	1,708.00	\$17.85	\$30,487.80
		0001	5001	7061000	REINFORCING STEEL	0.00	1,984.00	1,984.00	LB	1,984.00	\$5.72	\$11,348.48
		0001	5002	6209902	MISC.Preformed Thermoplastic Pavement Marking, 24 IN White, Yield Triangles	0.00	98.00	98.00	EA	61.00	\$80.00	\$4,880.00
		0001	5003	6214600A	FLOWABLE BACKFILL	0.00	4.00	4.00	CUYD	4.00	\$208.20	\$832.80
		0001	5004	2072000	LINEAR GRADING CLASS 2	0.00	14.85	14.85	STA	0.00	\$950.00	\$0.00
		0001	5005	1099901A	MISC.Clearing Overgrowth	0.00	1.00	1.00	LS	0.00	\$13,560.00	\$0.00
	Project Je	S3633 - To	tal Value	Posted to D	late as of Report Generated Date							\$2,924,262.06
240816-F	02 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$2,924,262.06

Revision 5/29/2025 Page 9 of 26



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J6S3633

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
030	2063500	CULVERT CLEANOUT	11/6/25	11/7/25	1	1.00	EA	Culvert cleanout @ Bon Chateau Drive	57+49	RT			
				11/7/25	2	1.00	EA	Culvert cleanout at Pebble Acres Drive	66+02	RT			
0040	2079909	MISC. GRADING	11/6/25	11/7/25	1	1.50	STA	Linear grading within these stations.	55+60	RT	61+00	RT	
				11/7/25	3	-5.20	STA	Reversing entry on 10/8	163.60	RT	169+00	RT	
				11/7/25	4	-5.20	STA	Reversing entry from 10/17	152+80	RT	158+20	RT	
				11/7/25	5	2.60	STA	Reversing entry from 10/28	153+26	RT	155+35	RT	
				11/7/25	6	2.30	STA	Reversing entry from 10/28	163+60	RT	169+00	RT	
060	3040504	TYPE 5 AGGREGATE FOR BASE	11/3/25	11/5/25	1	31.10	SQYD	Sidewalk west of Beacon Hill approach	174+66	RT	175+28	RT	
			11/4/25	11/6/25	1	67.40	SQYD	Sidewalk east of 12141 Route AB	167+86	LT	169+03	LT	
			11/5/25	11/6/25	1	56.50	SQYD	Sidewalk in front of 12082 Route AB	171+46	RT	172+45	RT	
0080	4030011	ASPH. CONC. MIXTURE PG 70-22 (SP095CLP)	11/3/25	11/5/25	1	500.39	TONS	RT lane on SB exit ramp of Hwy 270, RT lane onto Coeur DeVille, Coeur Deville approach, 1 mainline WB lane from Coeur DeVille to just past Belle Maison Dr, along with WB merge lane, and approach to Emerson Rd.	162+00	RT	187+52	LT	
				11/5/25	2	0.09	TONS	Rounding to nearest 10th for payment	00+00	RT	187+52	LT	
1090	4071007	TACK COAT - NON-TRACKING	11/3/25	11/5/25	1	500.00	GAL	RT lane on SB exit ramp of Hwy 270, RT lane onto Coeur DeVille, Coeur Deville approach, 1 mainline WB lane from Coeur DeVille to just past Belle Malson Dr, along with WB merge lane, and approach to Emerson Rd.	162+00	RT	187+52	LT	
150	6081012	TRUNCATED DOMES	11/3/25	11/5/25	1	10.00	SQFT	Ramp west of Beacon Hill approach	175+28	RT	175+44	RT	
1200	6086004	CONCRETE SIDEWALK, 4 IN.	11/3/25	11/5/25	1	31.10	SQYD	Sidewalk west of Beacon Hill approach	174+66	RT	175+28	RT	
			11/4/25	11/6/25	1	67.40	SQYD	Sidewalk east of 12141 Route AB	167+86	LT	169+03	LT	
			11/5/25	11/6/25	1	56.50	SQYD	Sidewalk in front of 12082 Route AB	171+46	RT	172+28	RT	
1220	6089902	MISC. CONCRETE	11/3/25	11/5/25	1	1.00	EA	Ramp west of Beacon Hill approach	175+28	RT	175+44	RT	
			11/4/25	11/6/25	1	1.00	EA	Ramp east of 12141 Route AB	167+65	LT	167+86	LT	
			11/5/25	11/6/25	1	1.00	EA	Ramp on east side of approach to 12082 Route AB	171+26	RT	171+46	RT	
				11/6/25	2	1.00	EA	ramp on west side of approach to 12074 Route AB	172+45	RT	172+65	RT	
230	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER)	11/3/25	11/5/25	1	74.30	LF	S curb west of Beacon Hill approach	174+59	RT	175+33	RT	
			11/5/25	11/6/25	1	118.00	LF	s-curb east of approach at 12082 Route AB	171+40	RT	172+57	RT	
			11/6/25	11/7/25	1	117.90	LF	In front of 12082 Route AB	172+94	RT	174+10	RT	
0330	6099903	MISC. PAVED DRAINAGE	11/7/25	11/10/25	1	62.00	LF	Variable Height curb due to slope behind the sidewalk.	174+66	RT	175+28	RT	
				11/10/25	2	102.00	LF	Variable Height curb due to slope behind sidewalk.	173+01	RT	174+03	RT	
			11/12/25	11/14/25	1	129.00	LF	curb in front of 12082 Route AB	171+26	RT	172+55	RT	
470	6169901	MISC.	11/6/25	11/7/25	1	0.25	LS	Traffic Control partial payment	0+00	RT	187+52	LT	
720	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	11/3/25	11/5/25	1	4,558.00	SQYD	RT lane on SB exit ramp of Hwy 270, RT lane onto Coeur DeVille, Coeur Deville approach, 1 mainline WB lane from Coeur DeVille to just past Belle Maison Dr, along with WB merge lane, and approach to Emerson Rd.	162+00	RT	187+52	LT	
870	8061006	ALTERNATE DITCH CHECK	11/3/25	11/6/25	1	70.00	LF	Alternative Ditch checks installed in various locations within these stations to help prevent erosion in the areas we previously performed ditching.	107+00	LT	167+10	LT	

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 10 of 26



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0030	CULVERT CLEANOUT	Overrun	Type	15	Nov 17, 2025	SYSTEM	(\$1,450.00)	
					15	Nov 17, 2025	SYSTEM	\$1,450.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0030	Total						\$0.00	
	0050	MISC. SHAPING SLOPES	Material		3	May 2, 2025	SYSTEM	(\$6,000.00)	
					3	May 2, 2025	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user colemp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0050	Total						\$0.00	
	0060	TYPE 5 AGGREGATE	Material		4	Jun 2, 2025	SYSTEM	(\$517.08)	
		FOR BASE			4	Jun 2, 2025	SYSTEM	\$517.08	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user hoffmb2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 16, 2025	SYSTEM	(\$1,197.88)	
					5	Jun 16, 2025	SYSTEM	\$1,197.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$1,946.20)	
					6	Jul 1, 2025	SYSTEM	\$1,946.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$6,373.99)	
					7	Jul 16, 2025	SYSTEM	\$6,373.99	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0060	Total						\$0.00	
	0080	ASPH. CONC. MIXTURE PG 70-22 (SP095CLP)	Other Item Adjustment	ACAD	8	Aug 4, 2025	claspc1	(\$710.87)	Current Index 513.75 Base Index 527.50 Index Difference -13.75
									1123.90 Tons of SP095 VAC 4.6%
									For second half of June
									Letting occurred in August 2024
					8	Aug 4, 2025	claspc1	(\$1,617.81)	Current Index 513.75 Base Index 527.50 Index Difference -13.75
									2257.80 Tons of SP095 VAC 4.6%
									For first half of July
									Letting occurred in August 2024
				ACAD - Tota	al			(\$2,328.68)	
			Other Item A	djustment - T	otal			(\$2,328.68)	
			Overrun	Overrun	15	Nov 17, 2025	SYSTEM	(\$56,051.00)	
					15	Nov 17, 2025	SYSTEM	\$56,051.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0080	ASPH. CONC.	Overrun	Overrun					Estimate Exception 12 on the current Payment Estimate.
		MIXTURE PG 70-22		Overrun - T	otal			\$0.00	
		(SP095CLP)	Overrun - To	tal				\$0.00	
	0080 -	Total						(\$2,328.68)	
	0090	TACK COAT - NON-TRACKING	Material		6	Jul 1, 2025	SYSTEM	(\$3,600.00)	
					6	Jul 1, 2025	SYSTEM	\$3,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	14	Nov 3, 2025	SYSTEM	(\$1,815.00)	
					14	Nov 3, 2025	SYSTEM	\$1,815.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$3,315.00)	
					15	Nov 17, 2025	SYSTEM	\$3,315.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0090 -	- Total						\$0.00	
	0110	PIPE COLLAR, TYPE C	Material		12	Oct 1, 2025	SYSTEM	(\$3,075.00)	
					12	Oct 1, 2025	SYSTEM	\$3,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Oct 15, 2025	SYSTEM	(\$3,075.00)	
					13	Oct 15, 2025	SYSTEM	\$3,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Nov 3, 2025	SYSTEM	(\$3,075.00)	
					14	Nov 3, 2025	SYSTEM	\$3,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0110 -	Total						\$0.00	
	0150	TRUNCATED DOMES	Material		4	Jun 2, 2025	SYSTEM	(\$2,184.60)	
					4	Jun 2, 2025	SYSTEM	\$2,184.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user hoffmb2 overridding Payment
									Estimate left Adjustment (0002) due to user horizontal Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00 \$0.00	
	0150 -	- Total	Material - To						
		PAVED APPROACH, 7	Material - To		7	Jul 16, 2025	SYSTEM	\$0.00	
		PAVED			7		SYSTEM	\$0.00 \$0.00	
		PAVED APPROACH, 7				2025 Jul 16,		\$0.00 \$0.00 (\$15,939.00)	Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspot overridding Payment
		PAVED APPROACH, 7			7	2025 Jul 16, 2025 Aug 4,	SYSTEM	\$0.00 \$0.00 (\$15,939.00) \$15,939.00	Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspot overridding Payment



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		·	Туре	Adjustment Type	Number	Date	Ву		
J6S3633	0180	PAVED APPROACH, 7 IN.	Material		9	Aug 18, 2025	SYSTEM	\$15,939.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$15,939.00)	
					10	Sep 2, 2025	SYSTEM	\$15,939.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$15,939.00)	
					11	Sep 16, 2025	SYSTEM	\$15,939.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	Oct 1, 2025	SYSTEM	(\$30,343.50)	
					12	Oct 1, 2025	SYSTEM	\$30,343.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
	0400	T-4-1	Material - To	tal				\$0.00	
	0180	- Total PAVED	Material		5	Jun 16,	SYSTEM	\$0.00 (\$3,726.80)	
	0100	APPROACH, 8 IN.	Material		5	2025 Jun 16,	SYSTEM	\$3,726.80	This adjustment offsets the original system-generated Material Payment
						2025			Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$3,726.80)	
					6	Jul 1, 2025	SYSTEM	\$3,726.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$8,675.70)	
					7	Jul 16, 2025	SYSTEM	\$8,675.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$8,675.70)	
					8	Aug 4, 2025	SYSTEM	\$8,675.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$8,675.70)	
					9	Aug 18, 2025	SYSTEM	\$8,675.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$8,675.70)	
					10	Sep 2, 2025	SYSTEM	\$8,675.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$13,334.20)	
					11	Sep 16, 2025	SYSTEM	\$13,334.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					12	Oct 1, 2025	SYSTEM	(\$19,940.80)	
					12	Oct 1, 2025	SYSTEM	\$19,940.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	14	Nov 3, 2025	SYSTEM	(\$1,488.30)	



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
33	0190	PAVED APPROACH, 8 IN.	Overrun	Overrun	14	Nov 3, 2025	SYSTEM	\$1,488.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$1,488.30)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					15	Nov 17, 2025	SYSTEM	\$1,488.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				Overrun - T	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0190 -	Total						\$0.00	
	0200	CONCRETE SIDEWALK, 4 IN.	Material		4	Jun 2, 2025	SYSTEM	(\$3,996.85)	
					4	Jun 2, 2025	SYSTEM	\$3,996.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user hoffmb2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$37,458.85)	
					7	Jul 16, 2025	SYSTEM	\$37,458.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$37,458.85)	
					8	Aug 4, 2025	SYSTEM	\$37,458.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$50,829.35)	
					9	Aug 18, 2025	SYSTEM	\$50,829.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$64,378.60)	
					10	Sep 2, 2025	SYSTEM	\$64,378.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$64,378.60)	
					11	Sep 16, 2025	SYSTEM	\$64,378.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					12	Oct 1, 2025	SYSTEM	(\$75,110.75)	
					12	Oct 1, 2025	SYSTEM	\$75,110.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					13	Oct 15, 2025	SYSTEM	(\$97,518.85)	
					13	Oct 15, 2025	SYSTEM	\$97,518.85	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					14	Nov 3, 2025	SYSTEM	(\$121,528.55)	
					14	Nov 3, 2025	SYSTEM	\$121,528.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	ial				\$0.00	
	0200 -	Total						\$0.00	
	0270	FURNISHING TYPE 1 ROCK	Material		11	Sep 16, 2025	SYSTEM	(\$2,714.00)	
		DITCH LINER			11	Sep 16, 2025	SYSTEM	\$2,714.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0270	FURNISHING TYPE 1 ROCK DITCH LINER	Material - To	tal				\$0.00	
	0270 -	Total						\$0.00	
	0280	FURN. TYPE 2 ROCK DITCH	Material		9	Aug 18, 2025	SYSTEM	(\$1,816.88)	
		LINER			9	Aug 18, 2025	SYSTEM	\$1,816.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0280 -	Total						\$0.00	
	0310	MISC. PAVED DRAINAGE	Material		10	Sep 2, 2025	SYSTEM	(\$3,400.00)	
					10	Sep 2, 2025	SYSTEM	\$3,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0310 -	Total						\$0.00	
	0330	MISC. PAVED DRAINAGE	Material		15	Nov 17, 2025	SYSTEM	(\$28,577.90)	
					15	Nov 17, 2025	SYSTEM	\$28,577.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0330 -	Total						\$0.00	
	0370	FURN & PLACE CONC MATL FOR FULL	Material		6	Jul 1, 2025	SYSTEM	(\$13,335.00)	
		DEPTH			6	Jul 1, 2025	SYSTEM	\$13,335.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$13,335.00)	
					7	Jul 16, 2025	SYSTEM	\$13,335.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$13,335.00)	
					8	Aug 4, 2025	SYSTEM	\$13,335.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$23,835.00)	
					9	Aug 18, 2025	SYSTEM	\$23,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$23,835.00)	
					10	Sep 2, 2025	SYSTEM	\$23,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$23,835.00)	
					11	Sep 16, 2025	SYSTEM	\$23,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					12	Oct 1, 2025	SYSTEM	(\$23,835.00)	
					12	Oct 1, 2025	SYSTEM	\$23,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.



ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3633	0370	FURN & PLACE CONC MATL	Material		13	Oct 15, 2025	SYSTEM	(\$23,835.00)	
		FOR FULL DEPTH			13	Oct 15, 2025	SYSTEM	\$23,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					14	Nov 3, 2025	SYSTEM	(\$23,835.00)	
					14	Nov 3, 2025	SYSTEM	\$23,835.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0370 -	Total						\$0.00	
	0440	CURVED VANE GRTE AND	Material		9	Aug 18, 2025	SYSTEM	(\$7,200.00)	
		FRAME(2 FT. X 2 FT)			9	Aug 18, 2025	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$7,200.00)	
					10	Sep 2, 2025	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$7,200.00)	
					11	Sep 16, 2025	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0440 -	Total						\$0.00	
	0470	MISC.	Material		5	Jun 16, 2025	SYSTEM	(\$7,000.00)	
					5	Jun 16, 2025	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user claspc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$7,000.00)	
					6	Jul 1, 2025	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$7,000.00)	
					7	Jul 16, 2025	SYSTEM	\$7,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0470 -	Total						\$0.00	
	0490	CONCRETE TRAFFIC	Material		5	Jun 16, 2025	SYSTEM	(\$5,430.00)	
		BARRIER, TYPE B			5	Jun 16, 2025	SYSTEM	\$5,430.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0490 -	Total						\$0.00	
	0500	CONCRETE TRAFFIC	Material		5	Jun 16, 2025	SYSTEM	(\$2,732.40)	
		BARRIER, TYPE C			5	Jun 16, 2025	SYSTEM	\$2,732.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0500	CONCRETE TRAFFIC	Material		11	Sep 16, 2025	SYSTEM	(\$36,649.80)	
		BARRIER, TYPE C			11	Sep 16, 2025	SYSTEM	\$36,649.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0500 -							\$0.00	
	0510	TEMPORARY TRAFFIC BARRIER,	Material		8	Aug 4, 2025	SYSTEM	(\$8,400.00)	
		CONT. FURN/RE			8	Aug 4, 2025	SYSTEM	\$8,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0510 -	Total						\$0.00	
	0520	MISC. CONCRETE TRAFFIC	Material		5	Jun 16, 2025	SYSTEM	(\$5,210.00)	
		BARRIER			5	Jun 16, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$5,210.00)	
					6	Jul 1, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Jul 16, 2025	SYSTEM	(\$5,210.00)	
					7	Jul 16, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$5,210.00)	
					8	Aug 4, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$5,210.00)	
					9	Aug 18, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$5,210.00)	
					10	Sep 2, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$5,210.00)	
					11	Sep 16, 2025	SYSTEM	\$5,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0520 -	Total						\$0.00	
	0530	MISC. CONCRETE TRAFFIC	Material		5	Jun 16, 2025	SYSTEM	(\$4,002.00)	
		BARRIER			5	Jun 16, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Jul 1, 2025	SYSTEM	(\$4,002.00)	
					6	Jul 1, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0530	MISC. CONCRETE	Material		7	Jul 16, 2025	SYSTEM	(\$4,002.00)	
		TRAFFIC BARRIER			7	Jul 16, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					8	Aug 4, 2025	SYSTEM	(\$4,002.00)	
					8	Aug 4, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$4,002.00)	
					9	Aug 18, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$4,002.00)	
					10	Sep 2, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$4,002.00)	
					11	Sep 16, 2025	SYSTEM	\$4,002.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0530 - 0580	PREF THERMO	Material		10	Sep 2,	SYSTEM	\$0.00 (\$2,475.00)	
		PVMT MARK, LT/RT ARROW			10	2025 Sep 2, 2025	SYSTEM	\$2,475.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$2,475.00)	Estimate exception to on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	\$2,475.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0580 -	Total						\$0.00	
	0610	PREF THERMO PVMT MARK, 30" WHT MIDBL	Material		10	Sep 2, 2025	SYSTEM	(\$585.00)	
		30 WITH WILDE			10	Sep 2, 2025	SYSTEM	\$585.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$585.00)	
					11	Sep 16, 2025	SYSTEM	\$585.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		Total	0	0	4.4	h1	0)/0===	\$0.00	
	0630	6 IN. WHITE HIGH BUILD WATERBORNE	Overrun	Overrun	14	Nov 3, 2025	SYSTEM	(\$1,651.38)	
		PAVEMENT MARKING PAINT, TYPE L BEADS			14	Nov 3, 2025	SYSTEM	\$1,651.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
		DEADS			15	Nov 17, 2025	SYSTEM	(\$1,651.38)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					15	Nov 17, 2025	SYSTEM	\$1,651.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0630	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	Overrun	Overrun - To	otal			\$0.00	
		MARKING PAINT, TYPE L BEADS	Overrun - To	tal				\$0.00	
	0630 -	Total						\$0.00	
	0660	4 IN. YELLOW WATERBORNE PAVEMENT	Material		14	Nov 3, 2025	SYSTEM	(\$2,802.96)	
		MARKING			14	Nov 3, 2025	SYSTEM	\$2,802.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$2,802.96)	
					15	Nov 17, 2025	SYSTEM	\$2,802.96	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0660 -	Total						\$0.00	
	0720	COLDMILLING BIT. PAVT FOR	Overrun	Overrun	15	Nov 17, 2025	SYSTEM	(\$3,179.00)	
		REM OF SURF.			15	Nov 17, 2025	SYSTEM	\$3,179.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				Overrun - To	otal			\$0.00	
			Overrun - To	tal				\$0.00	
	0720 -	Total						\$0.00	
	0730	PERMANENT EROSION	Material		9	Aug 18, 2025	SYSTEM	(\$248.55)	
		GEOTEXTILE			9	Aug 18, 2025	SYSTEM	\$248.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$248.55)	
					10	Sep 2, 2025	SYSTEM	\$248.55	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$1,191.45)	
					11	Sep 16, 2025	SYSTEM	\$1,191.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0730 -	Total						\$0.00	
		CLASS B CONCRETE	Material		8	Aug 4, 2025	SYSTEM	(\$48,161.75)	
		(MISC)			8	Aug 4, 2025	SYSTEM	\$48,161.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$62,625.50)	
					9	Aug 18, 2025	SYSTEM	\$62,625.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$63,133.00)	
					10	Sep 2, 2025	SYSTEM	\$63,133.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$63,133.00)	



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0750	CLASS B CONCRETE	Material	Type	11	Sep 16, 2025	SYSTEM	\$63,133.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment
		(MISC)			12	Oct 1,	SYSTEM	(\$63,133.00)	Estimate Exception 16 on the current Payment Estimate.
					12	2025 Oct 1, 2025	SYSTEM	\$63,133.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					13	Oct 15, 2025	SYSTEM	(\$63,133.00)	Estimate Exception 6 on the current rayment Estimate.
					13	Oct 15, 2025	SYSTEM	\$63,133.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user claspc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					14	Nov 3, 2025	SYSTEM	(\$63,133.00)	,
					14	Nov 3, 2025	SYSTEM	\$63,133.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$63,133.00)	
					15	Nov 17, 2025	SYSTEM	\$63,133.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0750	Total						\$0.00	
	0780	REINFORCING STEEL (EPOXY COATED)	Material		8	Aug 4, 2025	SYSTEM	(\$1,754.00)	
		OO/NED)			8	Aug 4, 2025	SYSTEM	\$1,754.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					9	Aug 18, 2025	SYSTEM	(\$2,279.00)	
					9	Aug 18, 2025	SYSTEM	\$2,279.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					10	Sep 2, 2025	SYSTEM	(\$2,280.00)	
					10	Sep 2, 2025	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					11	Sep 16, 2025	SYSTEM	(\$2,280.00)	
					11	Sep 16, 2025	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					12	Oct 1, 2025	SYSTEM	(\$2,280.00)	
					12	Oct 1, 2025	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					13	Oct 15, 2025	SYSTEM	(\$2,280.00)	
					13	Oct 15, 2025	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					14	Nov 3, 2025	SYSTEM	(\$2,280.00)	
					14	Nov 3, 2025	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$2,280.00)	
					15	Nov 17, 2025	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.



	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	0780	REINFORCING STEEL (EPOXY	Material	- Total				\$0.00	
		COATED)	Material - To	tal				\$0.00	
	0780 -	- Total						\$0.00	
	0790	12 IN. PIPE GROUP A	Material		12	Oct 1, 2025	SYSTEM	(\$7,225.00)	
					12	Oct 1, 2025	SYSTEM	\$7,225.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
		- Total						\$0.00	
	0800	15 IN. PIPE GROUP A	Material		12	Oct 1, 2025	SYSTEM	(\$7,315.00)	
					12	Oct 1, 2025	SYSTEM	\$7,315.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0800	- Total						\$0.00	
	0810	MISC. RIGID PIPE CULVERT	Material		14	Nov 3, 2025	SYSTEM	(\$9,250.00)	
					14	Nov 3, 2025	SYSTEM	\$9,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$9,250.00)	
					15	Nov 17, 2025	SYSTEM	\$9,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user claspc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			_	0	4.4		01/0==1/		
			Overrun	Overrun	14	Nov 3, 2025	SYSTEM	(\$2,775.00)	
			Overrun	Overrun	14		SYSTEM	(\$2,775.00) \$2,775.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
			Overrun	Overrun		2025 Nov 3,			Estimate Item Adjustment (0010) due to user claspc1 overridding Payment
			Overrun	Overrun	14	2025 Nov 3, 2025 Nov 17,	SYSTEM	\$2,775.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates
			Overrun	Overrun - T	14 15	2025 Nov 3, 2025 Nov 17, 2025	SYSTEM SYSTEM	\$2,775.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment
			Overrun - To	Overrun - T	14 15	2025 Nov 3, 2025 Nov 17, 2025	SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment
	0810	- Total		Overrun - T	14 15	2025 Nov 3, 2025 Nov 17, 2025	SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment
	0810 -	- Total CURB INLET CHECK		Overrun - T	14 15	2025 Nov 3, 2025 Nov 17, 2025	SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment
		CURB INLET	Overrun - To	Overrun - T	14 15 15 otal	2025 Nov 3, 2025 Nov 17, 2025 Nov 17, 2025	SYSTEM SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00 \$0.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment
		CURB INLET	Overrun - To	Overrun - T	14 15 15 15 otal	2025 Nov 3, 2025 Nov 17, 2025 Nov 17, 2025 Jul 1, 2025 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00 \$0.00 \$0.00 (\$375.00)	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment
		CURB INLET	Overrun - To	Overrun - T	14 15 15 16 6	2025 Nov 3, 2025 Nov 17, 2025 Nov 17, 2025 Jul 1, 2025 Jul 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00 \$0.00 (\$375.00)	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment
		CURB INLET	Overrun - To	Overrun - T	14	2025 Nov 3, 2025 Nov 17, 2025 Nov 17, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00 \$0.00 (\$375.00) \$375.00	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment
		CURB INLET	Overrun - To	Overrun - T	14	2025 Nov 3, 2025 Nov 17, 2025 Nov 17, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00 \$0.00 (\$375.00) \$375.00 (\$375.00)	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment
		CURB INLET	Overrun - To	Overrun - T	14	2025 Nov 3, 2025 Nov 17, 2025 Nov 17, 2025 Jul 1, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$2,775.00 (\$2,775.00) \$2,775.00 \$0.00 \$0.00 \$375.00 (\$375.00) \$375.00 (\$375.00)	Estimate Item Adjustment (0010) due to user claspc1 overridding Payment Estimate Exception 19 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user claspc1 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 15 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
6S3633	0880 -	Total						\$0.00	
	0910	MGS GUARDRAIL	Construction Stockpile		3	May 2, 2025	SYSTEM	(\$3,649.24)	Payment Estimate Item Adjustment generated Stockpile Transaction
					6	Jul 1, 2025	SYSTEM	(\$1,216.42)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Sep 16, 2025	SYSTEM	(\$304.10)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Oct 1, 2025	SYSTEM	(\$7,450.54)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$12,620.30)	
			Construction	Stockpile - 1	Γotal			(\$12,620.30)	
			Construction Stockpile STMI		1	Mar 3, 2025	SYSTEM	\$12,626.38	Payment Estimate Item Adjustment generated Stockpile Transaction
			OTIVII	- Total				\$12,626.38	
			Construction	Stockpile S	ГМI - Total			\$12,626.38	
	0910 -	Total						\$6.08	
	0920	MGS GUARDRAIL, 8	Construction Stockpile		3	May 2, 2025	SYSTEM	(\$2,441.83)	Payment Estimate Item Adjustment generated Stockpile Transaction
		FT. POSTS, 6 FT 3 IN			12	Oct 1, 2025	SYSTEM	(\$6,010.66)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,452.49)	
			Construction	Stockpile - 1	Γotal			(\$8,452.49)	
			Construction Stockpile		1	Mar 3, 2025	SYSTEM	\$8,460.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$8,460.00	
			Construction Stockpile STMI - Total					\$8,460.00	
	0920 -	Total						\$7.51	
	0930	MGS BRIDGE APP. TRANS SEC (EXT CURB)	Construction Stockpile		6	Jul 1, 2025	SYSTEM	(\$1,806.55)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,806.55)	
			Construction	Stockpile - 1	Γotal			(\$1,806.55)	
			Construction Stockpile STMI		1	Mar 3, 2025	SYSTEM	\$1,806.55	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total		2023		\$1,806.55	
			Construction	Stockpile STMI - Total				\$1,806.55	
	0930 -	Total		otostpiic Orini Total				\$0.00	
	0940	MGS VERTICAL	Construction		6	Jul 1,	SYSTEM	(\$1,740.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS VERTICAL CONCRETE BARRIER TRANSITION	Stockpile			2025		(+ 1,1 10100)	
					11	Sep 16, 2025	SYSTEM	(\$3,480.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$5,220.00)	
			Construction	Stockpile - 1	Γotal			(\$5,220.00)	
			Construction Stockpile STMI		1	Mar 3, 2025	SYSTEM	\$5,220.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,220.00	
			Construction Stockpile STMI - Total					\$5,220.00	
	0940 -	Total						\$0.00	
	0950	TYPE A CRASHWORTHY	Construction Stockpile		3	May 2, 2025	SYSTEM	(\$11,100.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)			6	Jul 1, 2025	SYSTEM	(\$3,700.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					11	Sep 16, 2025	SYSTEM	(\$6,621.05)	Payment Estimate Item Adjustment generated Stockpile Transaction
					12	Oct 1, 2025	SYSTEM	(\$15,578.95)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$37,000.00)	
			Construction	Stockpile - 1	Total			(\$37,000.00)	



Type Adjustment Type Number Date By	ect	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
Construction Stockpile STM - Total		20	2000		Adjustment				7 1110 1111	
Agr 1, Total	633 (0950	CRASHWORTHY	Stockpile		1		SYSTEM	\$12,950.00	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile STM - Total						2		SYSTEM	\$24,050.00	Payment Estimate Item Adjustment generated Stockpile Transaction
					- Total				\$37,000.00	
				Construction	Stockpile S	TMI - Total			\$37,000.00	
LED-C Sinch	(0950 -	Total						\$0.00	
Construction Stockplas STMI - Total \$13,357.00	(0960		Stockpile		5		SYSTEM	\$3,357.00	Payment Estimate Item Adjustment generated Stockpile Transaction
1980 - Total				0.1111	- Total				\$3,357.00	
DRIAL BOX				Construction	Stockpile S	TMI - Total			\$3,357.00	
Stockpile STM	(0960 -	Total						\$3,357.00	
Construction Stockpile STMI - Total \$2,452.00	(0980	PREFORMED	Stockpile		5		SYSTEM	\$2,152.00	Payment Estimate Item Adjustment generated Stockpile Transaction
CABLE, LOOP			02/100 1	OTIVII	- Total				\$2,152.00	
Barrier Barr				Construction	Stockpile STMI - Total				\$2,152.00	
DETECTOR.IN DUIL OF DUIL BOX PULL Box Strickling Strick	(0980 -	Total						\$2,152.00	
8	•	1180	DETECTOR, IN	Material		8		SYSTEM	(\$17,877.20)	
2025 9 Aug 18, SYSTEM \$18,478.32 This adjustment offsets the original system-generated Material Payment Estimate tem Adjustment (0012) due to user classor to verifiding Payment Estimate Exception 16 on the current Payment Estimate.			DUCT			8		SYSTEM	\$17,877.20	Estimate Item Adjustment (0012) due to user claspc1 overridding Payment
Pull BOX Preformed CLASS 1 Construction Stockpile STMI - Total Support Stockpile STMI - Total						9		SYSTEM	(\$18,478.32)	
Material - Total Support Suppo						9		SYSTEM	\$18,478.32	Estimate Item Adjustment (0012) due to user claspc1 overridding Payment
Overrun Overrun 8					- Total				\$0.00	
2025 8				Material - Total					\$0.00	
Construction Sum S				Overrun	Overrun	8		SYSTEM	(\$1,557.20)	
Total S0.00						8		SYSTEM	\$1,557.20	Estimate Item Adjustment (0011) due to user claspc1 overridding Payment
180 Total					Overrun - T	otal			\$0.00	
1190 PULL BOX, PREFORMED CLASS 1 Construction Stockpile STMI Total S1,614.00				Overrun - Total					\$0.00	
PREFORMED CLASS 1	-	1180 -	Total						\$0.00	
Total Construction Stockpile STMI - Total 1200 - Total 1200 - Total Construction Stockpile STMI - Total 1200 - Total Construction Stockpile STMI - Total Construction Stockpile STMI - Total 1200 - Total 1200 - Total 1210 - Total 1210 - Total Construction Stockpile STMI - Total 1210 - Total Construction Stockpile STMI - Total S8,442.00 Payment Estimate Item Adjustment generated Stockpile Transaction \$8,442.00 Payment Estimate Item Adjustment generated Stockpile Transaction \$8,442.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total \$4,599.00 1210 - Total S4,599.00 1210 - Total S4,599.00 1250 MISC. Construction Stockpile STMI - Total S4,599.00 S4,599.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S4,599.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S4,599.00 1250 MISC. Construction Stockpile STMI - Total S4,599.00 S4,599.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S18,075.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI - Total S18,075.00		1190	PREFORMED	Stockpile		5		SYSTEM	\$1,614.00	Payment Estimate Item Adjustment generated Stockpile Transaction
1190 - Total S1,614.00			OLAGG I	OTIVII	- Total				\$1,614.00	
1200 PULL BOX, PREFORMED CLASS 2 Total \$8,442.00 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI Total \$8,442.00				Construction Stockpile STMI - Total					\$1,614.00	
PREFORMED Stockpile STMI - Total \$8,442.00	1	1190 -	Total						\$1,614.00	
Total \$8,442.00	,	1200	PREFORMED	Stockpile		5		SYSTEM	\$8,442.00	Payment Estimate Item Adjustment generated Stockpile Transaction
1200 - Total \$8,442.00					- Total				\$8,442.00	
1210 PULL BOX, PREFORMED CLASS 3 Construction Stockpile STMI - Total 1210 - Total 1210 - Total 1250 MISC. Construction Stockpile STMI - Total Suppose State of Stockpile STMI - Total Suppose State of Stockpile STMI - Total Suppose State of Stockpile STMI - Total Suppose State of Stockpile STMI - Total Suppose State of Stockpile State of Sto				Construction	Construction Stockpile STMI - To			Total		
PREFORMED Stockpile STMI 2025	4	1200 -	Total						\$8,442.00	
Total \$4,599.00	1	1210	PREFORMED	Stockpile		5		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
1210 - Total 1250 MISC. Construction Stockpile STMI - Total Construction Stockpile STMI - Total S18,075.00 S18,075.00 S18,075.00 S18,075.00			OLAGO J	"	- Total				\$4,599.00	
1250 MISC. Construction Stockpile STMI - Total Construction Stockpile STMI - Total S18,075.00 Payment Estimate Item Adjustment generated Stockpile Transaction \$18,075.00 Payment Estimate Item Adjustment generated Stockpile Transaction \$18,075.00				Construction	Stockpile S	TMI - Total			\$4,599.00	
Stockpile 2025 - Total \$18,075.00	1	1210 -	Total						\$4,599.00	
- Total \$18,075.00 Construction Stockpile STMI - Total \$18,075.00		1250	MISC.	Stockpile		5		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
					- Total				\$18,075.00	
1250 - Total \$18,075.00				Construction	Stockpile S	TMI - Total			\$18,075.00	
		1250 -	Total						\$18,075.00	



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3633	1270	MISC.	Construction Stockpile STMI		5	Jun 16, 2025	SYSTEM	\$49,287.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$49,287.00	
			Construction	n Stockpile Si	MI - Total			\$49,287.00	
	1270 -	- Total						\$49,287.00	
	1330	2 IN. PSST POST - 12 GA.	Material		14	Nov 3, 2025	SYSTEM	(\$4,368.00)	
					14	Nov 3, 2025	SYSTEM	\$4,368.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user claspc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$4,368.00)	
					15	Nov 17, 2025	SYSTEM	\$4,368.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1330 -	- Total						\$0.00	
	1340	DRIVEN POST ANCHOR FOR 2	Material		14	Nov 3, 2025	SYSTEM	(\$3,300.00)	
		IN. PSST - 12 GA.			14	Nov 3, 2025	SYSTEM	\$3,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					15	Nov 17, 2025	SYSTEM	(\$3,300.00)	
					15	Nov 17, 2025	SYSTEM	\$3,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
								ŞU.UU	
	1340 -	- Total						\$0.00	
	1340 - 1350	SH-FLAT SHEET	Material		14	Nov 3, 2025	SYSTEM		
			Material		14		SYSTEM SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
			Material	- Total		2025 Nov 3,		\$0.00 (\$2,310.00)	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment
			Material Material - To			2025 Nov 3,		\$0.00 (\$2,310.00) \$2,310.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment
	1350					2025 Nov 3,		\$0.00 (\$2,310.00) \$2,310.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment
	1350	SH-FLAT SHEET -Total SHF-FLAT SHEET				2025 Nov 3,		\$0.00 (\$2,310.00) \$2,310.00 \$0.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment
	1350 -	SH-FLAT SHEET -Total SHF-FLAT	Material - To		14	2025 Nov 3, 2025	SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment
	1350 -	SH-FLAT SHEET -Total SHF-FLAT SHEET	Material - To		14	Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Nov 3,	SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 \$1,980.00)	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment
	1350 -	SH-FLAT SHEET -Total SHF-FLAT SHEET	Material - To	tal - Total	14	Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Nov 3,	SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment
	1350 - 1360 -	SH-FLAT SHEET -Total SHF-FLAT SHEET	Material - Tot	tal - Total	14	Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Nov 3,	SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment
	1350 - 1360 -	SH-FLAT SHEET -Total SHF-FLAT SHEET FLUORESCENT	Material - Tot	tal - Total	14	Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Nov 3,	SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00 \$0.00	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment
	1350 - 1360 -	SH-FLAT SHEET -Total SHF-FLAT SHEET FLUORESCENT -Total REINFORCING	Material - To	- Total tal	14 14 14	2025 Nov 3, 2025 Nov 3, 2025 Nov 3, 2025	SYSTEM SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00 \$0.00 \$0.00 (\$8,713.85)	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment
	1350 - 1360 -	SH-FLAT SHEET -Total SHF-FLAT SHEET FLUORESCENT -Total REINFORCING	Material - To	tal - Total	14 14 14 8	2025 Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00 \$0.00 \$0.00 \$0.00 (\$8,713.85)	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment
	1350 - 1360 -	SH-FLAT SHEET -Total SHF-FLAT SHEET FLUORESCENT -Total REINFORCING	Material - To	- Total tal	14 14 14 8	2025 Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00 \$0.00 \$0.00 (\$8,713.85)	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment
	1350 - 1350 - 1360 - 1360 - 5001	SH-FLAT SHEET -Total SHF-FLAT SHEET FLUORESCENT -Total REINFORCING	Material - Tot Material - Tot Material - Tot Material - Tot	- Total tal	14 14 14 8	2025 Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 (\$1,980.00) \$1,980.00 \$0.00 \$0.00 \$8,713.85 \$8,713.85	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment
	1350 - 1350 - 1360 - 1360 - 5001	SH-FLAT SHEET -Total SHF-FLAT SHEET FLUORESCENT -Total REINFORCING STEEL	Material - Tot Material - Tot Material - Tot Material - Tot	- Total tal	14 14 14 8	2025 Nov 3, 2025 Nov 3, 2025 Nov 3, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM	\$0.00 (\$2,310.00) \$2,310.00 \$0.00 \$0.00 \$1,980.00 \$0.00 \$0.00 \$0.00 \$8,713.85 \$8,713.85	Estimate Item Adjustment (0014) due to user claspc1 overridding Payment Estimate Exception 14 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user claspc1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment Estimate Item Adjustment (0013) due to user claspc1 overridding Payment





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J6S3633	5002	MISC. PAVEMENT MARKINGS	Material	- Total					
			Material - Tot	al				\$0.00	
	5002 -	Total						\$0.00	
	5003	FLOWABLE BACKFILL	Material		13	Oct 15, 2025	SYSTEM	(\$832.80)	
					13	Oct 15, 2025	SYSTEM	\$832.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user claspc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					14	Nov 3, 2025	SYSTEM	(\$832.80)	
					14	Nov 3, 2025	SYSTEM	\$832.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user claspc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	5003 -	Total						\$0.00	
J6S3633	J6S3633 - Total							\$85,210.91	
Overall - Total								\$85,210.91	



Contract Adjustments for Contract - 240816-F02

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
8	J6S3633	Other Contract Adjustment	TSR	\$12,701.87	100	August 4, 2025	claspc1	Job Number J6S3633 Line Number 0080 1.75", Asphalt Concrete Pavement SP095 SP095 ((23-27) Lot 1 TSR Bonus = 103% or \$12,701.87
		Other Contract Adjustment	SPAD	\$16,512.42	100	August 4, 2025	claspc1	Job Number J6S3633 Line Number 0080 1.75", Asphalt Concrete Pavement SP095 Pay Factor SP095 (23-27) Lot 1 = 103.9% or \$16,512.42 Unconfined Joint Factor = 100%
8 - Total				\$29,214.29				
Overall - Total				\$29,214.29				

Revision 5/29/2025 Page 26 of 26